EARAROBEEIERT — 2 N— IBISH —F

2018%8H 168 (K) 9EIAH5H

Blzz0a 83= v55x—#

‘ [Ri&] & ‘ [REBB] — | & (£) 16000 B

[A&4£] 1 7% :3,000,000 @ 23 :1,200,000 33 :750,000 4 3% :450,000 @ . 5 7 :300,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N [i0paas] : —1-4- — STEfR (K3F)
FHUT AN O IR N I s
L:tr/snJaqd B4 IXF TR "HET77— L4
©= e BB : -0~ = HEZERR (15
535 KU T it 6 i} 1(.34/%4 2-2-2-2 | 40.3 2 (5_220) il
LihIN=— B:IIANLZ ESlEse ]
N SEER : 95— — ZfREEEZ (KH)
g— k24 it 6 oy 1(74?:;5 8-9-5-3 | 39.7 6 <4+930) LREE
L2914 T hhHLY N B:YvA4T LT v— fints it
ST RRTIRG # 5 | FHZFEA 1:44.2 10-10-9-9 | 39.4 | — 3 498 | BAELZ (KH)
T)FH N 54.0 (31/2) -2) FREFH
RR—NFIHLF— BTO-T 41— K #"H 53
= 4 o4 | BEY 1:44.5 7-7-7-6 | 40.2| — 4 464 | B (KH)
557 AX T o1 — 56.0 (11/2) -7 g:;&qz
RA—YXA A B:axF—va> ke
= 5 s 4 | BEEE 1:45.3 6-4-1-1 |42.3| — 9 463 | SEILUBSIE (4viA)
6[8|12) 7374 788.0 @ (r25) |MEiM
R:Z—RIVERIIL BIIVIFIANyE— J—H Ty —LA
s N el HFAt . -8-8— - YETIZ (k)
7 gl h=—vrx>y o4 o (13.41/.2% 9-8-8-7 | 41.8 10 <4+625) i
LN—HNE BATVEAT Y8 s
T—JL o 4 | BARE 1:46.3 13-12-12-10| 40.8 | — 11 449 | ETEH (vHh)
8l 8 <54 (1 3/4) (123 | BIEEEA
R:viNnNygrHT1 BYF HAstt /—ZELX
N . EEE 146. -13-13- . - KHHEE (E)
ol7l10l LA LTk o4 s (11 416/26) 12-13-13-13| 41.1 1 zzg)s TaE i
AN —bEPR BTIT/ -84 LTHITy—L
s A s HARRER 147, -11-11- . — EHER (KH)
10 NESEL V22 H o4 i 1(427)0 1-11-11-12| 42.1 13 (4:13 sl
R:KU—LPv—=— B:T14T7AT71 ialllkse)
j o3 | RIS 1:47.6 3-3-3-5 |44.5| — 8 511 | EFIR (KH)
1118113 JIWTF T HF— g 55.0 3) (+12) | EEEE
i/ BL—Ib B:xN-FLAX [HE &
P g B4 | TS 1:47.9 4-5-6-8 |43.8| — 12 | 439 |FEEAE (KH)
1211|720 >ZX3—ILK 54.0 (1 1/2) (+9) | BEFIEL
RAFAT=I K B X k=i Nn— k J—HT L
. o4 | FIAEE 1:48.3 5-6-10-11 [43.9| — 7 492 | FHIMAER (K¥#)
13/5/| 6 A=< MKR—A 56.0 2) (+2) ANETF
L:3VATAXY BT RZZRTE-Y = E—
® I—F—@EBIERL
|S=7r= 4,11,13,1,6,12,7,2,3,5,9,10,8
23=7F= 4,11,13,12,1,6,7,3,2,5,9,8,10
T =35r= 12,11,13,4,2,1,7,3,5,6,9,8,10
41—F— 12,11,(2,4) ,13,7,3,1,5,8,6,9,10
[ RN
B R 4 940 | | 71 K 4-11 640 | | # = 4-7 450/ | | 3EfE 2-4-11 4,040M
BB 4 280M 2-4 1,220M B 4-7 1,040M EE 4-11-2 29,160/
1 160/ 2-11 750M B = 4-11 1,690
2 330M B H 4-11 3,890

ABICOVWTRDTEEERROODE. TR LIV,




